

Pay Estimate Created Date: October 16, 2023

Progress Estimate Number 8		Contract ID Prime Contractor	230120-C01 Emery Sapp & Sons, In	Pay Period Start c. Pay Period End		Original Contract Amount Net Change Order Amount Current Contract Amount	
Approval Date							By User
October 16, 2023			Generated and Appro	oved (and should be	considered Draft)	at the Project Office Level by	degrow1
October 16, 2023		F	Reviewed and Approved	and should be consi	dered Draft) at the	Resident Engineer Level by	rileyr1
October 17, 2023			Revie	wed and Approved a	t the Central Offic	e Controllers Office Level by	ramses1
Original Comp	letion Date	Current Con	npletion Date	Actual Completion I	Date	% of Current Contract Amour	nt Complete
November	1, 2023	Novembe	er 1, 2023			92.39%	
	0	t Informational Date		8411	tonoo		

	Contract Informational Dat	tes	Milestones
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	February 8, 2023	February 8, 2023	
Letting Date	January 20, 2023	January 20, 2023	
Notice to Proceed Date	March 13, 2023	March 13, 2023	
Open to Traffic Date			
Work Began Date	July 24, 2023	July 24, 2023	

Contract Total Pa	y For Estimate No. 8			
		This Estimate	Previous	To Date
230120-C01				
	Total Posted Items Pay	\$1,685,120.34	\$5,043,408.53	\$6,728,528.87
	Gross Item Adjustments	\$5,998.06	\$14,994.44	\$20,992.50
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$175,608.74	\$0.00	\$175,608.74
	,		\$5,058,402.97	\$6,925,130.11
Contract Total Pa	yable This Estimate:	\$1,866,727.14		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J3P3112	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$7,750.000	1	\$7,750.00
	0020	2153000	SHAPING SLOPES, CLASS III	100F	\$1,116.000	16	\$17,856.00
	0030	3049910	MISC.Permanent Aggregate Edge Treatment	TONS	\$51.500	1,279	\$65,868.50
	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$142.500	280	\$39,900.00
	0050	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$105.750	13,709.85	\$1,449,816.64
	0360	6061060	MGS GUARDRAIL	LF	\$27.400	1,558	\$42,689.20
	0370	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$3,965.000	8	\$31,720.00
	0380	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,690.000	8	\$29,520.00
Project J3P3	112 - Total						\$1,685,120.34
Overall - Tot	al						\$1 685 120 34

Contract Adjustments This Estimate

Contract Adjustment ID	Adj Type	Entered By	Comments	Time Units	Rate	Amount
4549	SPADOther Contract Adjustment	degrow1	0060: LOT 1 = \$19,992.00 LOT 2 = \$23,800.00 LOT 3 = \$21,484.86 0070: LOT 1 = \$21,020.00 LOT 2 = \$21,020.00 LOT 3 = \$20,599.60 LOT 4 = \$19,758.80 LOT 5 = \$27,933.48			\$175,608.74

Revision 3/23/2023 Page 1 of 15



Pay Estimate Created Date: October 16, 2023

Progr		imate Number 8	Contract ID Prime Contr		20-C01 y Sapp & Son	Pay Period Start s, Inc. Pay Period End	October 15, 2023	Original Contra Net Change Or Current Contra	der Amount	\$7,282,686.35 \$0.00 \$7,282,686.35
Contract	Adjustr	nent ID	Adj Type	Ente	ered By	Comments	Time Units	Rate		Amount
Overall -	Total									\$175,608.74
ino Itom	Adiuet	These a ments This Esti		ted in the Inc	centive, Disin	centive, Liquidated Dam	nages or Other Cor	ntract Adjustme	nts	
				A 11	OII II		·	A 11	1	A 11
Project Number	Line No.	Item Des	scription	Adjustment Type	Other Item Adjustment Type	Comme	ents	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3P3112	0030		MISC.	Material				-1,279	\$51.50	(\$65,868.50
	0030		MISC.	Material		overridding Payment Es	ayment Estimate Ite) due to user degrov	m v1 on	\$51.50	\$65,868.50
	0040	GRAVEL (A)	OR CRUSHED STONE (B)	Material				-280	\$142.50	(\$39,900.00
	0040	GRAVEL (A) (OR CRUSHED STONE (B)	Material		overridding Payment Es	ayment Estimate Ite) due to user degrov	m v1 on	\$142.50	\$39,900.00
(0050		S PAVEMENT G64-22, (BP-1)	Material				-14,580	\$105.75	(\$1,541,835.00
	0050		S PAVEMENT G64-22, (BP-1)	Material		overridding Payment Es	ayment Estimate Ite) due to user degrov	m v1 on	\$105.75	\$1,541,835.00
	0050		S PAVEMENT G64-22, (BP-1)	Other Item Adjustment		12.5(Index difference(\$/ * 3	(ton)) * 13,709.85 to 6.50% AC = \$5,998.0			\$5,998.06
	0060	ASPHALTION MIXTURE PG 6	C CONCRETE 64-22 (SP048F MIX)	Material				-3,585	\$119.00	(\$426,615.00
	0060	ASPHALTION MIXTURE PG 6	C CONCRETE 64-22 (SP048F MIX)	Material		overridding Payment Es	ayment Estimate Ite) due to user degrov	m v1 on	\$119.00	\$426,615.00
	0090		TACK COAT	Material				-27,060	\$2.50	(\$67,650.00
	0090		TACK COAT	Material		overridding Payment Es	ayment Estimate Ite) due to user degrov	m v1 on	\$2.50	\$67,650.00
	0150	FURI	AR (DRILLING, NISHING AND N) FOR FULL MENT REPAIR	Material				-2,562	\$6.40	(\$16,396.80
	0150			Material		overridding Payment E	ayment Estimate Ite) due to user degrov	m v1 10	\$6.40	\$16,396.80
	0170	FURI INSTALLATIO DEPTH PAVEN	AR (DRILLING, NISHING AND DN) FOR FULL MENT REPAIR (PE L JOINTS)	Material				-12	\$5.75	(\$69.00
	0170	FURI	AR (DRILLING, NISHING AND DN) FOR FULL MENT REPAIR	Material		This adjustment offset generated Material P Adjustment (0007) overridding Payment E	ayment Estimate Ite) due to user degrov	m v1	\$5.75	\$69.00

Revision 3/23/2023 Page 2 of 15



Pay Estimate Created Date: October 16, 2023

Progress Estimate Number	Contract ID	230120-C01	Pay Period Start	October 1, 2023	Original Contract Amount	\$7,282,686.35
0	Prime Contractor	Emery Sapp & Sons, Inc.	Pay Period End	October 15, 2023	Net Change Order Amount	\$0.00
o o					Current Contract Amount	\$7,282,686.35

er	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
12		(TYPE L JOINTS)			on the current Payment Estimate.			
	0200	CONSTRUCTION SIGNS	Material			-1,497	\$7.25	(\$10,853.25
	0200	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	1,497	\$7.25	\$10,853.25
	0210	ADVANCED WARNING RAIL SYSTEM	Material			-2	\$72.00	(\$144.00
	0210	SYSTEM generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.		2	\$72.00	\$144.00		
	0220	CHANNELIZER (TRIM LINE)	Material			-150	\$19.75	(\$2,962.50
	0220	CHANNELIZER (TRIM LINE)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user degrow1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	150	\$19.75	\$2,962.50
	0240	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material			-2	\$3,900.00	(\$7,800.00)
	0240	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user degrow1 overridding Payment Estimate Exception 16 on the current Payment Estimate.	2	\$3,900.00	\$7,800.00
	0250	TEMPORARY LONG-TERM RUMBLE STRIPS	Material			-4	\$1,425.00	(\$5,700.00)
	0250	TEMPORARY LONG-TERM RUMBLE STRIPS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user degrow1 overridding Payment Estimate Exception 17 on the current Payment Estimate.	4	\$1,425.00	\$5,700.00
	0360	MGS GUARDRAIL	Material			-1,558	\$27.40	(\$42,689.20
	0360	MGS GUARDRAIL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user degrow1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	1,558	\$27.40	\$42,689.20
	0370	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Material			-8	\$3,965.00	(\$31,720.00)
C	0370	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	8	\$3,965.00	\$31,720.00
	0380	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material			-8	\$3,690.00	(\$29,520.00)
	0380	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	8	\$3,690.00	\$29,520.00

Revision 3/23/2023 Page 3 of 15





Pay Estimate Created Date: October 16, 2023

Progress Estimate Number 8			Contract ID Prime Contra		20-C01 / Sapp & Sons, I	Pay Period Start October 1, 2023 nc. Pay Period End October 15, 2023		\$0.00	
Project Number	Line No.	Item Desci	ription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
Total									\$5,998.06

Revision 3/23/2023 Page 4 of 15



					C	Contract Project Information	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J3P3112	FAF 65-3(114)	Resurface	65	SALINE	from east of Rte. 24 to Rte.	240 in Marshall	
Totals by .	Job Numbe	rs					
J3P3112					This Estimate	Previous	To Date
		d Item Pay			\$1,685,120.34	\$5,043,408.53	\$6,728,528.87
	Gross	Item Adjustme			\$5,998.06	\$14,994.44	\$20,992.50
			Gross	Item Pay	\$1,691,118.40	\$5,058,402.97	\$6,749,521.37
	Incent	ive			\$0.00	\$0.00	\$0.00
	Disino	entive			\$0.00	\$0.00	\$0.00
		-4I D			\$0.00	\$0.00	\$0.00
	Liquid	lated Damages	•		φυ.υυ	ψ0.00	Ψ0.00

Revision 3/23/2023 Page 5 of 15



Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Feriod			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 3049910, Project Item Line Number 0030, Material Set 304991096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 3105002, Project Item Line Number 0040, Material Set 310500296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 4011209, Project Item Line Number 0050, Material Set 401120996, Material 0401BPPMBP1 - Plant Mix for Bit Pavement BP-1, Acceptance Action Generic AspLow is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 4030015, Project Item Line Number 0060, Material Set 403001596, Material 0403SP048F - Superpave 4.8 mm, Des F, Acceptance Action Generic AspHigh is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 4071005, Project Item Line Number 0090, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6061060, Project Item Line Number 0360, Material Set 606106096, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6061060, Project Item Line Number 0360, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6061069, Project Item Line Number 0370, Material Set 606106996, Material 1040GRAB - Bridge Anchor Section, Acceptance Action Generic 1040GRAB is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6063014, Project Item Line Number 0380, Material Set 606301496, Material 1040GRCWA - Crashworthy End Terminal Type A, Acceptance Action Generic 1040GRCWA is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6131015, Project Item Line Number 0150, Material Set 613101596, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6131018, Project Item Line Number 0170, Material Set 613101896, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6131018, Project Item Line Number 0170, Material Set 613101896, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6161005, Project Item Line Number 0200, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6161008, Project Item Line Number 0210, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6161025, Project Item Line Number 0220, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6161098A, Project Item Line Number 0240, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3112, Item 6162002, Project Item Line Number 0250, Material Set 616200296, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certifications received and passing tests achieved. Tests need entered into AWP.	degrow1	Overridden

Revision 3/23/2023 Page 6 of 15



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	port Generated date and can differ from the posted ame Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230120-C01	J3P3112	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$7,750.00	\$7,750.00
		0001	0020	2153000	SHAPING SLOPES, CLASS III	16.00	0.00	16.00	100F	16.00	\$1,116.00	\$17,856.00
		0001	0030	3049910	MISC.Permanent Aggregate Edge Treatment	1,279.00	0.00	1,279.00	TONS	1,279.00	\$51.50	\$65,868.50
		0001	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	280.00	0.00	280.00	TONS	280.00	\$142.50	\$39,900.00
		0001	0050	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	18,125.00	0.00	18,125.00	TONS	14,580.00	\$105.75	\$1,541,835.00
		0001	0060	4030015	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP048F MIX)	11,585.00	0.00	11,585.00	TONS	11,585.00	\$119.00	\$1,378,615.00
		0001	0070	4030101	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	21,803.00	0.00	21,803.00	TONS	21,315.60	\$105.10	\$2,240,269.56
		0001	0080	4031057	ASPHALT PERFORMANCE TESTING REPORTING	1.00	0.00	1.00	LS	0.00	\$7,800.00	\$0.00
		0001	0090	4071005	TACK COAT	27,060.00	0.00	27,060.00	GAL	27,060.00	\$2.50	\$67,650.00
		0001	0100	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,625.00	\$0.00
		0001	0110	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	1,392.00	0.00	1,392.00	SQYD	1,392.00	\$426.70	\$593,966.40
		0001	0120	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	139.00	0.00	139.00	SQYD	0.00	\$1.00	\$0.00
		0001	0130	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	139.00	0.00	139.00	SQYD	0.00	\$1.00	\$0.00
		0001	0140	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	6,264.00	0.00	6,264.00	LF	6,264.00	\$9.50	\$59,508.00
		0001	0150	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	4,176.00	0.00	4,176.00	EA	2,562.00	\$6.40	\$16,396.80
		0001	0160	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	36.00	0.00	36.00	EA	0.00	\$16.50	\$0.00
		0001	0170	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	30.00	0.00	30.00	EA	12.00	\$5.75	\$69.00
		0001	0180	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	83.00	0.00	83.00	TONS	83.00	\$291.00	\$24,153.00
		0001	0190	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	500.00	0.00	500.00	SQYD	500.00	\$192.25	\$96,125.00
		0001	0200	6161005	CONSTRUCTION SIGNS	1,497.00	0.00	1,497.00	SQFT	1,497.00	\$7.25	\$10,853.25
		0001	0210	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$72.00	\$144.00
		0001	0220	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	150.00	\$19.75	\$2,962.50
		0001	0230	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$2,475.00	\$0.00
		0001	0240	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	2.00	\$3,900.00	\$7,800.00
		0001	0250	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$1,425.00	\$5,700.00
		0001	0260	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$384,000.00	\$0.00
		0001	0261	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$355,382.00	\$355,382.00
		0001	0270	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	300.00	0.00	300.00	LF	0.00	\$22.00	\$0.00
		0001	0280	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	2.00	0.00	2.00	EA	0.00	\$358.00	\$0.00
		0001	0290	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	5.00	0.00	5.00	EA	0.00	\$247.85	\$0.00
		0001	0300	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	102,980.00	0.00	102,980.00	LF	0.00	\$0.20	\$0.00
		0001	0310	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	167,006.00	0.00	167,006.00	LF	0.00	\$0.23	\$0.00
		0001	0320	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	8,448.00	0.00	8,448.00	SQYD	7,892.00	\$2.25	\$17,757.00
		0001	0330	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,959.00	0.00	2,959.00	SQYD	2,959.00	\$15.35	\$45,420.65
		0001	0340	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,616.50	0.00	1,616.50	STA	0.00	\$9.90	\$0.00
		0001	0350	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	820.80	0.00	820.80	STA	0.00	\$9.90	\$0.00
		0010	0360	6061060	MGS GUARDRAIL	1,558.00	0.00	1,558.00	LF	1,558.00	\$27.40	\$42,689.20
		0010	0370	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	8.00	0.00	8.00	EA	8.00	\$3,965.00	\$31,720.00
		0010	0380	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8.00	0.00	8.00	EA	8.00	\$3,690.00	\$29,520.00
		0001	5001	6189901	MISC.Adjust Mobilization for Contract Bond	0.00	1.00	1.00	LS	1.00	\$28,618.00	\$28,618.00
	Project J	3P3112 - To	otal Value	Posted to D	Date as of Report Generated Date							\$6,728,528.86
230120-C01 Ove	erall - Total	Value Pos	ted to Da	te as of Rep	ort Generated Date							\$6,728,528.86

Page 7 of 15 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J3P3112

Line lumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	10/13/23	10/16/23	1.00	LS	F0105 & G0131 Removals					
0020	2153000	SHAPING SLOPES, CLASS III	10/13/23	10/16/23	16.00	100F	FO105 Bridge: North Right = 2.16 North Left = 1.11 South Right = 1.53 South Left = 2.11 G0131 Bridge: North Right = 2.69 North Right = 1.11					
							South Right = 2.16 South Left = 2.69					
0030	3049910	MISC. AGGREGATE FOR BASE	10/13/23	10/16/23	1,279.00	IONS	Route 65 NB (203.634 - 209.669) Route 65 SB (103.442 - 111.617) = 1069.28 tons Route 65 SB (111.617 - 119.110) Route 65 NB (194.001 - 201.684) = 455.76 tons Route 65 NB/SB wide shoulder sections for F0105 & G0131 Bridges: 217.06 tons					
0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	10/13/23	10/16/23	280.00	TONS	Entrances throughout the job = 280 tons					
0050	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	10/13/23	10/16/23	0.00	TONS	Locations Continued: 10/11 - Entrances Malta Bend and Grand Pass = 1701.17 tons 10/12 - Grand Pass and Bridge Shoulders = 670.70 tons					
				10/16/23	13,709.85	TONS	Route 56 NB (206.589 - 209.689) Route 55 SB (103.443 - 103.990) = 1416.44 tons Route 65 SB (103.443 - 103.990) = 1416.44 tons Route 65 SB (101.347 to 11.410.37) = 1416.45 tons Route 65 SB (101.397 to 11.410.47) = 1455.79 tons Route 65 SB (101.194.038 - 195.904) = 2148.86 tons Route 65 NB (101.194.038 - 195.904) = 2148.86 tons Route 65 NB (101.194.038 - 195.904) = 2148.86 tons Route 65 NB (101.194.038 - 195.904) = 1418.86 tons Route 65 NB (101.194.038 - 195.904) = 1418.86 tons Route 65 NB (101.194.038 - 195.904) = 1418.86 tons Route 65 NB (101.194.038 - 195.904) = 1418.86 tons Route 65 NB (101.201.784 - 1.104.04.314) = 1195.30 tons Segregated section millifull infort of Malta Bend Ethanol Plant(108.317-108.811) = -178 tons 10/10-Marshall town entrances = 119.72 tons 10/10-Marshall / Malta Bend town entrances = 288.28 tons					
0360	6061060	MGS GUARDRAIL	10/13/23	10/16/23	1,558.00	LF	FO105 Bridge: North Right = 225 North Left = 112.5 South Right = 162.5 South Right = 162.5 G0131 Bridge: North Right = 275 North Left = 112.5 South Left = 275 South Left = 275					
0370	6061069	MGS BRIDGE APP. TRANS SEC (REGINO CURB)	10/13/23	10/16/23	8.00	EA	FO105 Bridge: North Right = 1 North Left = 1 South Right = 1 South Right = 1 South Right = 1 South Right = 1 North Right = 1 North Right = 1 South Right = 1 South Right = 1 South Left = 1					
0380	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	10/13/23	10/16/23	8.00	EA	FO105 Bridge: North Right = 1 North Left = 1 South Right = 1 South Left = 1 South Left = 1 G0131 Bridge: North Right = 1 North Left = 1					

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 8 of 15



					_				
oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3112	0030	MISC. AGGREGATE FOR BASE	Material		8	Oct 16, 2023	SYSTEM	\$65,868.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Oct 16, 2023	SYSTEM	(\$65,868.50)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0030 -	Total						\$0.00	
	0040	GRAVEL (A) OR CRUSHED STONE (B)	Material		8	Oct 16, 2023	SYSTEM	\$39,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Oct 16, 2023	SYSTEM	(\$39,900.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0040 -	Total						\$0.00	
	0050	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Material		8	Oct 16, 2023	SYSTEM	\$1,541,835.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					8	Oct 16, 2023	SYSTEM	(\$1,541,835.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	6	Sep 15, 2023	degrow1	\$88.97	12.5*203.35 tons*3.50% = \$88.97
					7	Oct 2, 2023	degrow1	\$291.73	12.5 * 666.80 tons *3.50% = \$291.73
					8	Oct 16, 2023	degrow1	\$5,998.06	12.5(Index difference(\$/ton)) * 13,709.85 tons * 3.50% AC = \$5,998.06
				ACAD - Tota	al			\$6,378.76	
			Other Item Adjustment - Total					\$6,378.76	
	0050 -	Total						\$6,378.76	
	0060	ASPH. CONC. MIXTURE PG 64-22 (SP048F)	Material		6	Sep 15, 2023	SYSTEM	\$426,615.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Sep 15, 2023	SYSTEM	(\$426,615.00)	
					7	Oct 2, 2023	SYSTEM	\$426,615.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user degrow1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Oct 2, 2023	SYSTEM	(\$426,615.00)	
					8	Oct 16, 2023	SYSTEM	\$426,615.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					8	Oct 16, 2023	SYSTEM	(\$426,615.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	6	Sep 15, 2023	degrow1	\$5,515.18	12.5*11,610.90 tons*3.80% = \$5515.18
				ACAD - Tota	al			\$5,515.18	
			Other Item /	Adjustment -	Total			\$5,515.18	
	0060 -	Total						\$5,515.18	
	0070	ASPHALTIC CONCRETE MIXTURE PG	Other Item Adjustment	ACAD	6	Sep 15, 2023	degrow1	\$511.52	12.5*1203.58 tons*3.40% = \$511.52
		64-22 (SP1			7	Oct 2, 2023	degrow1	\$8,547.61	12.5 * 20,112.02 tons * 3.40% = \$8,547.61
				ACAD - Tota	al			\$9,059.13	
			Other Item /	Adjustment -	Total			\$9,059.13	
	0070 -	0070 - Total							



SP3112 0006	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks																												
2023 SYSTEM 167 65000 This adjustment offsets the original system-garanted Material Payment Estimate Explanation (1902) also to user disproved controlling Payment Estimate Explanation (1902) also to user disproved controlling Payment Estimate Explanation (1902) also to user disproved controlling Payment Estimate Explanation (1903) also to user disproved controlling Payment Estimate Explanation (1903) also to user disproved controlling Payment Estimate Explanation (1903) also to user disproved controlling Payment Estimate Explanation (1903) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Explanation (1904) also to user disproved controlling Payment Estimate Exception 1 on the current Payment Estimate Except	J3P3112	0090	TACK COAT	Material		6		SYSTEM	\$48,017.50	Estimate Item Adjustment (0002) due to user degrow1 overridding Payment																												
2023 1						6		SYSTEM	(\$48,017.50)																													
B						7		SYSTEM	\$67,650.00	Estimate Item Adjustment (0002) due to user degrow1 overridding Payment																												
Book						7		SYSTEM	(\$67,650.00)																													
Control Cont						8		SYSTEM	\$67,650.00	Estimate Item Adjustment (0005) due to user degrow1 overridding Payment																												
Material - Total						8		SYSTEM	(\$67,650.00)																													
110					- Total				\$0.00																													
110				Material - To	otal				<u> </u>																													
CONCMATER CONCMATER Concentration Conc																																						
Aug 15 SYSTEM S310,837.60 This adjustment offsats the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate Exception 1 on the current Payment Estimate Exception 1 on the current Payment Estimate Estimate Exception 2 on the current Payment Estimate Estimate Exception 3 on the current Payment Estimate Estimate Exception 4 on the current Payment Estimate Estimate Exception 4 on the current Payment Estimate Exception 3 on the current Payment Estimate Estimate Exception 3 on the current Payment E		0110	CONC MATL FOR	Material				SYSTEM	\$58,031.20	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment																												
2023 Estimate Item Adjustment (0001) due to user degroval overridding Payment Estimate Exception 1 on the current Payment Estimate Estima						3		SYSTEM	(\$58,031.20)																													
2023 5 Sep 1, SYSTEM \$491,558.40 This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.							4		SYSTEM	\$310,637.60	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment																											
2023 Estimate Item Adjustment (0001) due to user degrowt overridding Payment Estimate Exception 1 on the current Payment Estimate.						4		SYSTEM	(\$310,637.60)																													
Total S0.00 Material - Total S0.00 S0.00 S0.00 S0.00 S0.00 S0.00 S0.00 S0.00 S0.00						5		SYSTEM	\$491,558.40	Estimate Item Adjustment (0001) due to user degrow1 overridding Payment																												
Naterial - Total S0.00						5		SYSTEM	(\$491,558.40)																													
DOWEL BAR Material DOWEL BAR Material DRILLING FURNISHING AND INST					- Total				\$0.00																													
DOWEL BAR (DRILLING, FURNISHING AND INST 1				Material - To	- Total		\$0.00																															
CRILLING FURNISHING AND INST		0110 -	- Total						\$0.00																													
3 Aug 2, 2023 4 Aug 15, 2023 5 SYSTEM \$8,499.20 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate. 4 Aug 15, 2023 5 Sep 1, SYSTEM \$13,702.40 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 5 Sep 1, SYSTEM (\$13,702.40) 6 Sep 15, SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. 6 Sep 15, SYSTEM (\$16,396.80) 7 Oct 2, SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate. 7 Oct 2, SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate. 8 Oct 16, SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate.		0150	(DRILLING, FURNISHING AND	Material	Material		3		SYSTEM	\$1,651.20	Estimate Item Adjustment (0002) due to user degrow1 overridding Payment																											
Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate. 4			into i			3		SYSTEM	(\$1,651.20)																													
5 Sep 1, 2023 5 Sep 1, 2023 5 Sep 1, 2023 5 Sep 1, 2023 6 Sep 15, 2023 6 Sep 15, 2023 7 Oct 2, 2023 7 Oct 2, 2023 8 SySTEM (\$16,396.80) 8 Oct 16, 395.80 8 Oct 16, 395.80 8 16,396.80 8 16,396.80 8 16,396.80 8 16,396.80 8 16,396.80 8 16,396.80 9 16,396.80 1 This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate. 8 2023 8 29STEM (\$16,396.80) 7 Oct 2, 2023 8 29STEM (\$16,396.80) 8 16,396.80 8 20 16,396.80 8 20 16,396.80 8 20 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 8 3 16,396.80 9 15 2023 8 2 16,396.80 9 16 20 20 20 20 20 20 20 20 20 20 20 20 20						4		SYSTEM	\$8,499.20	Estimate Item Adjustment (0002) due to user degrow1 overridding Payment																												
Estimate Item Adjustment (0002) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate. Sep 1, 2023 SYSTEM (\$13,702.40)						4		SYSTEM	(\$8,499.20)																													
6 Sep 15, 2023 SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. 6 Sep 15, 2023 SYSTEM (\$16,396.80) 7 Oct 2, 2023 SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. 7 Oct 2, 2023 SYSTEM (\$16,396.80) 8 Oct 16, SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment						5		SYSTEM	\$13,702.40	Estimate Item Adjustment (0002) due to user degrow1 overridding Payment																												
Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. 6 Sep 15, 2023 7 Oct 2, 2023 SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. 7 Oct 2, 2023 SYSTEM \$16,396.80 This adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. 8 Oct 16, SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment																																						
7 Oct 2, 2023 SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. 7 Oct 2, 2023 SYSTEM (\$16,396.80) 8 Oct 16, SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment						5		SYSTEM	(\$13,702.40)																													
2023 Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. 7 Oct 2, 2023 (\$16,396.80) 8 Oct 16, SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment							2023 Sep 15,			Estimate Item Adjustment (0003) due to user degrow1 overridding Payment																												
8 Oct 16, SYSTEM \$16,396.80 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment						6	2023 Sep 15, 2023 Sep 15,	SYSTEM	\$16,396.80	Estimate Item Adjustment (0003) due to user degrow1 overridding Payment																												
2023 Estimate Item Adjustment (0006) due to user degrow1 overridding Payment						6	2023 Sep 15, 2023 Sep 15, 2023 Oct 2,	SYSTEM SYSTEM	\$16,396.80 (\$16,396.80)	Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment																												
						6 7	2023 Sep 15, 2023 Sep 15, 2023 Oct 2, 2023	SYSTEM SYSTEM	\$16,396.80 (\$16,396.80) \$16,396.80	Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment																												
8 Oct 16, SYSTEM (\$16,396.80)						6 7 7	2023 Sep 15, 2023 Sep 15, 2023 Oct 2, 2023 Oct 2, 2023 Oct 16,	SYSTEM SYSTEM SYSTEM	\$16,396.80 (\$16,396.80) \$16,396.80	Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment																												



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J3P3112	0150	DOWEL BAR (DRILLING,	Material	- Total				\$0.00		
		FURNISHING AND INST	Material - To	otal				\$0.00		
	0150 -	Total						\$0.00		
	0170	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material		3	Aug 2, 2023	SYSTEM	\$69.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	
					3	Aug 2, 2023	SYSTEM	(\$69.00)		
						4	Aug 15, 2023	SYSTEM	\$69.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
						4	Aug 15, 2023	SYSTEM	(\$69.00)	
					5	Sep 1, 2023	SYSTEM	\$69.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user degrow1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	
					5	Sep 1, 2023	SYSTEM	(\$69.00)		
					6	Sep 15, 2023	SYSTEM	\$69.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
					6	Sep 15, 2023	SYSTEM	(\$69.00)		
					7	Oct 2, 2023	SYSTEM	\$69.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
					7	Oct 2, 2023	SYSTEM	(\$69.00)		
								8	Oct 16, 2023	SYSTEM
					8	Oct 16, 2023	SYSTEM	(\$69.00)		
				- Total				\$0.00		
			Material - To	otal				\$0.00		
	0170 -	Total						\$0.00		
	0180	FURN & PLACE BIT. MATL FOR CL C PARTIAL	Material		5	Sep 1, 2023	SYSTEM	\$12,163.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	
					5	Sep 1, 2023	SYSTEM	(\$12,163.80)		
				- Total				\$0.00		
			Material - To	otal				\$0.00		
			Other Item Adjustment	ACAD	5	Sep 1, 2023	degrow1	\$19.86	12.50 * 41.80 tons * 3.80% = \$19.86	
					6	Sep 15, 2023	degrow1	\$19.57	12.5*41.20 tons*3.80% = \$19.57	
				ACAD - Tota	al			\$39.43		
			Other Item	Adjustment -	Total			\$39.43		
	0180 -							\$39.43		
	0200	CONSTRUCTION SIGNS	Material		3	Aug 2, 2023	SYSTEM	\$6,554.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	
					3	Aug 2, 2023	SYSTEM	(\$6,554.00)		
					4	Aug 15, 2023	SYSTEM	\$6,554.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	
					4	Aug 15, 2023	SYSTEM	(\$6,554.00)		
					5	Sep 1, 2023	SYSTEM	\$10,853.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks							
J3P3112	0200	CONSTRUCTION	Material	Туре	5	Sep 1,	SYSTEM	(\$10,853.25)								
		SIGNS			6	2023 Sep 15,	SYSTEM	\$10,853.25	This adjustment offsets the original system-generated Material Payment							
						2023		(2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.	Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 6 on the current Payment Estimate.							
					6	Sep 15, 2023	SYSTEM	(\$10,853.25)								
					7	Oct 2, 2023	SYSTEM	\$10,853.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 6 on the current Payment Estimate.							
					7	Oct 2, 2023	SYSTEM	(\$10,853.25)								
				- Total	8	Oct 16, 2023	SYSTEM	\$10,853.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 13 on the current Payment Estimate.							
					8	Oct 16, 2023	SYSTEM	(\$10,853.25)								
								\$0.00								
			Material - To	- Total				\$0.00								
	0200 -	Total						\$0.00								
	0210	ADVANCED WARNING RAIL SYSTEM	Material		3	Aug 2, 2023	SYSTEM	\$144.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 6 on the current Payment Estimate.							
						3	Aug 2, 2023	SYSTEM	(\$144.00)							
					4	Aug 15, 2023	SYSTEM	\$144.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate.							
					4	Aug 15, 2023	SYSTEM	(\$144.00)								
					5	Sep 1, 2023	SYSTEM	\$144.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate.							
												5	Sep 1, 2023	SYSTEM	(\$144.00)	
					6	Sep 15, 2023	SYSTEM	\$144.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate.							
					6	Sep 15, 2023	SYSTEM	(\$144.00)								
					7	Oct 2, 2023	SYSTEM	\$144.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate.							
					7	Oct 2, 2023	SYSTEM	(\$144.00)								
					8	Oct 16, 2023	SYSTEM	\$144.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 14 on the current Payment Estimate.							
					8	Oct 16, 2023	SYSTEM	(\$144.00)								
				- Total				\$0.00								
			Material - To	otal				\$0.00								
	0210 -							\$0.00								
	0220	CHANNELIZER (TRIM LINE)	Material		3	Aug 2, 2023	SYSTEM	\$2,962.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 7 on the current Payment Estimate.							
					3	Aug 2, 2023	SYSTEM	(\$2,962.50)								
					4	Aug 15, 2023	SYSTEM	\$2,962.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate.							
					4	Aug 15, 2023	SYSTEM	(\$2,962.50)								
					5	Sep 1, 2023	SYSTEM	\$2,962.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.							



2020 CHANNELIZER Meried										
	Project	Line	Description	Adjustment Type		Est. Number	Created Date	Created By	Amount	Remarks
2023	J3P3112	0220		Material		5		SYSTEM	(\$2,962.50)	
2023 7						6		SYSTEM	\$2,962.50	Estimate Item Adjustment (0007) due to user degrow1 overridding Payment
2023 SYSTEM (\$2.902.50) Estimate Term Agliument (2007) one to user degroot oversiding Payment Estimate. System (\$2.902.50) Estimate Exception 3 on the current Payment Estimate. System (\$2.902.50) System (\$2.902.50) System (\$2.902.50) System Standard Exception 15 on the outrent Payment Estimate. System System						6		SYSTEM	(\$2,962.50)	
2023 10 10 10 10 10 10 10 1						7		SYSTEM	\$2,962.50	Estimate Item Adjustment (0007) due to user degrow1 overridding Payment
2023 September 100(10) (such to ouer degrow 1 overriding Payment Estimate Exception 10 in the current Payment Estimate.						7		SYSTEM	(\$2,962.50)	
Company Comp							8		SYSTEM	\$2,962.50
						8		SYSTEM	(\$2,962.50)	
					- Total				\$0.00	
CAMO				Material - T	otal				\$0.00	
0240 COMMUNICATION Material 2		0220	Total	Material - Total						
2 Jul 17, SYSTEM (\$7,800.00)			CMS W/O COMMUNICATION INTERFACE,	Material		2		SYSTEM		Estimate Item Adjustment (0001) due to user degrow1 overridding Payment
2023 Estimate Item Adjustment (0007) due to user degroard overridding Payment Estimate Exception 8 on the current Payment Estimate Item Adjustment (0007) due to user degroard overridding Payment Estimate Exception 8 on the current Payment Estimate Item Adjustment (0007) due to user degroard overridding Payment Estimate Item Adjustment (0007) due to user degroard overridding Payment Estimate Exception 10 on the current Payment Estimate Item Adjustment (0008) due to user degroard overridding Payment Estimate Exception 11 on the current Payment Estimate Exception 12 on the current Payment Estimate Exception 12 on the current Payment Estimate Exception 13 on the current Payment Estimate Exception 14 on the current Payment Estimate Exception 15 on the current Payment Estimate Exception 16 on the current Payment Estimate Estimate Exception 16 on the current Payment Estimate Estimate Estimate Exception 16 on the current Payment Estimate			CONT F/			2		SYSTEM	(\$7,800.00)	
2023 4						3		SYSTEM	\$7,800.00	Estimate Item Adjustment (0007) due to user degrow1 overridding Payment
2023 Estimate Item Adjustment (0007) due to user degrowd overridding Payment Estimate.						3		SYSTEM	(\$7,800.00)	
2023 SySTEM \$7,800.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate Exception 9 on the current Payment Estimate Estimate Estimate Exception 9 on the current Payment Estimate Estimate Estimate Exception 16 on the current Payment Estimate Estimate Exception 9 on the current Payment Estimate Esti						4		SYSTEM	\$7,800.00	Estimate Item Adjustment (0007) due to user degrow1 overridding Payment
2023 Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 11 on the current Payment Estimate.						4		SYSTEM	(\$7,800.00)	
2023						5		SYSTEM	\$7,800.00	Estimate Item Adjustment (0008) due to user degrow1 overridding Payment
2023 Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate.						5		SYSTEM	(\$7,800.00)	
2023 7						6		SYSTEM	\$7,800.00	Estimate Item Adjustment (0008) due to user degrow1 overridding Payment
2023 Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate. 7						6		SYSTEM	(\$7,800.00)	
2023 SYSTEM \$7,800.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user degrow1 overridding Payment Estimate Exception 16 on the current Payment Estimate.						7		SYSTEM	\$7,800.00	Estimate Item Adjustment (0008) due to user degrow1 overridding Payment
Estimate Item Adjustment (0011) due to user degrow1 overridding Payment Estimate Exception 16 on the current Payment Estimate. 8 Oct 16, SYSTEM (\$7,800.00) - Total S0.00 Material - Total \$0.00 0240 - Total \$0.00 TEMPORARY LONG-TERM RUMBLE STRIPS Aug 2, 2023 Aug 2, 2023 Aug 2, 2023 SYSTEM (\$5,700.00) SYSTEM (\$5,700.00) This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate. 3 Aug 2, 2023 4 Aug 15, SYSTEM (\$5,700.00) This adjustment offsets the original system-generated Material Payment Estimate Exception 9 on the current Payment Estimate. 55,700.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 9 on the current Payment Estimate. System Adjustment offsets the original system-generated Material Payment Estimate Item Adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment						7		SYSTEM	(\$7,800.00)	
- Total \$0.00 Material - Total \$0.00 0240 - Total \$0.00 TEMPORARY LONG-TERM RUMBLE STRIPS Aug 2, 2023 SYSTEM \$5,700.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate. 3 Aug 2, 2023 SYSTEM (\$5,700.00) 4 Aug 15, SYSTEM \$5,700.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 9 on the current Payment Estimate. 5 SYSTEM \$5,700.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment						8		SYSTEM	\$7,800.00	Estimate Item Adjustment (0011) due to user degrow1 overridding Payment
Material - Total \$0.00						8		SYSTEM	(\$7,800.00)	
Solution					- Total				\$0.00	
TEMPORARY LONG-TERM RUMBLE STRIPS Material 3 Aug 2, 2023 SYSTEM \$5,700.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate. 3 Aug 2, 2023 SYSTEM \$5,700.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 9 on the current Payment Estimate. 4 Aug 15, 2023 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment				Material - To	otal				\$0.00	
LONG-TERM RUMBLE STRIPS 2023 Estimate Item Adjustment (0008) dué to user degrow1 overridding Payment Estimate Exception 9 on the current Payment Estimate. 3 Aug 2, 2023 4 Aug 15, 2023 SYSTEM \$5,700.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment		0240 -	Total						\$0.00	
2023 4 Aug 15, SYSTEM \$5,700.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user degrow1 overridding Payment		0250	LONG-TERM	Material		3		SYSTEM	\$5,700.00	Estimate Item Adjustment (0008) due to user degrow1 overridding Payment
2023 Estimate Item Adjustment (0008) due to user degrow1 overridding Payment						3		SYSTEM	(\$5,700.00)	
					4		SYSTEM	\$5,700.00	Estimate Item Adjustment (0008) due to user degrow1 overridding Payment	





roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
P3112	0250	TEMPORARY LONG-TERM	Material		4	Aug 15, 2023	SYSTEM	(\$5,700.00)	
		RUMBLE STRIPS			5	Sep 1, 2023	SYSTEM	\$5,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					5	Sep 1, 2023	SYSTEM	(\$5,700.00)	
					6	Sep 15, 2023	SYSTEM	\$5,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					6	Sep 15, 2023	SYSTEM	(\$5,700.00)	
					7	Oct 2, 2023	SYSTEM	\$5,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user degrow1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					7	Oct 2, 2023	SYSTEM	(\$5,700.00)	
					8	Oct 16, 2023	SYSTEM	\$5,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user degrow1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					8	Oct 16, 2023	SYSTEM	(\$5,700.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0250 -	- Total						\$0.00	
	0360	MGS GUARDRAIL	Material		8	Oct 16, 2023	SYSTEM	\$42,689.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user degrow1 overridding Payment
									Estimate Exception 6 on the current Payment Estimate.
					8	Oct 16, 2023	SYSTEM	(\$42,689.20)	
				- Total	8		SYSTEM	(\$42,689.20) \$0.00	
			Material - To		8		SYSTEM	, , ,	
	0360 -	- Total	Material - To		8		SYSTEM	\$0.00	
	0360 - 0370	- Total MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Material - To		8		SYSTEM	\$0.00 \$0.00	
		MGS BRIDGE APP. TRANS SEC				2023 Oct 16,		\$0.00 \$0.00 \$0.00	Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment
		MGS BRIDGE APP. TRANS SEC			8	Oct 16, 2023 Oct 16,	SYSTEM	\$0.00 \$0.00 \$0.00 \$31,720.00	Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment
		MGS BRIDGE APP. TRANS SEC		otal - Total	8	Oct 16, 2023 Oct 16,	SYSTEM	\$0.00 \$0.00 \$0.00 \$31,720.00	Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment
	0370	MGS BRIDGE APP. TRANS SEC	Material	otal - Total	8	Oct 16, 2023 Oct 16,	SYSTEM	\$0.00 \$0.00 \$0.00 \$31,720.00 (\$31,720.00)	Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment
	0370	MGS BRIDGE APP. TRANS SEC (REG/NO CURB) - Total TYPE A CRASHWORTHY END TERMINAL	Material Material - To	otal - Total	8	Oct 16, 2023 Oct 16,	SYSTEM	\$0.00 \$0.00 \$0.00 \$31,720.00 (\$31,720.00) \$0.00	Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment
	0370	MGS BRIDGE APP. TRANS SEC (REG/NO CURB) - Total TYPE A CRASHWORTHY	Material Material - To	otal - Total	8	Oct 16, 2023 Oct 16, 2023 Oct 16, 2023	SYSTEM	\$0.00 \$0.00 \$0.00 \$31,720.00 (\$31,720.00) \$0.00 \$0.00	Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Payment
	0370	MGS BRIDGE APP. TRANS SEC (REG/NO CURB) - Total TYPE A CRASHWORTHY END TERMINAL	Material Material - To	otal - Total	8	Oct 16, 2023 Oct 16, 2023 Oct 16, 2023 Oct 16, 2023	SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 \$31,720.00 (\$31,720.00) \$0.00 \$0.00 \$29,520.00	Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Payment
	0370	MGS BRIDGE APP. TRANS SEC (REG/NO CURB) - Total TYPE A CRASHWORTHY END TERMINAL	Material Material - To	- Total otal	8	Oct 16, 2023 Oct 16, 2023 Oct 16, 2023 Oct 16, 2023	SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 \$31,720.00 (\$31,720.00) \$0.00 \$0.00 \$29,520.00	Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Payment
	0370	MGS BRIDGE APP. TRANS SEC (REG/NO CURB) Total TYPE A CRASHWORTHY END TERMINAL (MASH)	Material Material - To	- Total otal	8	Oct 16, 2023 Oct 16, 2023 Oct 16, 2023 Oct 16, 2023	SYSTEM SYSTEM	\$0.00 \$0.00 \$0.00 \$31,720.00 (\$31,720.00) \$0.00 \$0.00 \$29,520.00 (\$29,520.00)	Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Payment
P3112 -	0370 - 0370 - 0380 -	MGS BRIDGE APP. TRANS SEC (REG/NO CURB) Total TYPE A CRASHWORTHY END TERMINAL (MASH)	Material Material - To	- Total otal	8	Oct 16, 2023 Oct 16, 2023 Oct 16, 2023 Oct 16, 2023	SYSTEM SYSTEM	\$0.00 \$0.00 \$31,720.00 \$31,720.00 \$0.00 \$0.00 \$29,520.00 \$0.00 \$0.00 \$0.00	Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user degrow1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user degrow1 overridding Payment



Contract Adjustments for Contract - 230120-C01

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
8	J3P3112	Other Contract Adjustment	SPAD	\$175,608.74	100	Oct 16, 2023	degrow1	0060: LOT 1 = \$19,992.00 LOT 2 = \$23,800.00 LOT 3 = \$21,484.86 0070: LOT 1 = \$21,020.00 LOT 2 = \$21,020.00 LOT 3 = \$20,599.60 LOT 4 = \$19,758.80 LOT 5 = \$27,933.48
8 - Total					\$175,608.74			
Overall - Total					\$175,608.74			

Revision 3/23/2023 Page 15 of 15